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Let a = (2,0) and b= (1,3}, and let L be the lattice Lia, b). The points O, 4,
B, and ¢ are the points in B whose pnﬁtianvmuxﬂa:eﬂ, a bande= (7h —a)/3

respectively. Let r = r[x/3] and g = g[0].

{a) Im terms of t[a], ¢[b]. v and q, find all the reflections in (L] whose axes pass
through C.
k) Explain why none of the rotations with ceatre C can be conjugate in T{L]) to
the rotation .
{c] Find all the indirect symmetries in T{L) that map the pount © to the point B,
and write them in terms of t]al, t[b], r and g.
(d) (i) TFe[d]gff] iz any indirect isometry of B?, and e and £ are vectors such that
d=e+2f
where e is parallel to the axis of g[f] and fis perpendicular to that axis,
show that
t[d]q[#] = ale. £.5].

{ii) Hence, find the translation components of each of the indirect symmetries
which you found in part (¢}, and classify each as a reflection, an essential
glide reflection or an inessential glide reflection of L.
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